Skid plate set CFMOTO U10/UFORCE1000 2023-

Material: aluminunn
Name Skid plate set Fitting % & &
Main part 40.5292 ;; ;; Egaoclbet RN RIC RIC

3) 2x Hook 'Oy . Q; . ©;

4) 1x Clamp M6 = 9.8 Nm M8 = 24 Nm| |M10 = 47 Nm

5) 1x Plate 40.5292
6) 2x Hook

7) 1x Clamp
2x SD 2002

40x SD 28000
4x Bolt M8x20
2x Bolt M10x25
26x Screw M6x30
20x Screw M8x25
26x Lainba 6 G
20x Washer 8 G
2x Washer 10 G
26x Washer 6
4x Washer 8

40.5292

40.5292




Skid plate set CFMOTO U10/UFORCE1000 2023-

Material: aluminun




	Страница 1
	Страница 2

